( A#HIHF 10AE A/\— AfH )
ERE 2858 10A 28 (H)
HDCP16.4E T A
g 61 K £ ouT IN |GROSS| HDCP | NET
*1 BH AB 40 43 83 | 16.0 | 67.0
* 2| /NEPHE ETEE 38 39 77 | 91 | 679
* 3| B =& 43 42 85 | 15.6 | 69.4
* 4| R IEA 36 40 76 | 6.2 | 69.8
* 5 KiE £ 43 43 86 | 15.0 | 71.0
6 B KBk 39 43 82 | 106 | 714
7| X = 36 38 74 | 25 | 715
8| HRER FIE 42 38 80 | 83 | 71.7
9| /MUA E— 43 42 85 | 127 | 72.3
*100 ARE 40 42 82 | 93 | 727
11| &% E= 43 44 87 | 142 | 72.8
12| Tig #9% 38 42 80 | 7.1 | 729
13| A FEif 42 43 85 | 120 | 73.0
14 BE B— 39 39 78 | 47 | 733
*15|  d&JIl —ER 42 40 82 | 87 | 73.3
16| LT ik 40 42 82 | 79 | 74.1
17| 8% KA 42 42 84 | 99 | 741
18| P9HE #kExE 46 42 88 | 13.7 | 74.3
19) BF §ER 42 41 83 | 85 | 745
*20, EH =R 44 41 85 | 10.4 | 746
21| AKXKH = 43 43 86 | 106 | 75.4
22| KW 18§ 43 44 87 | 114 | 75.6
23| L EE 44 46 90 | 13.9 | 76.1
24 HIE & 42 46 88 | 11.8 | 76.2
*25| Hf AX 42 40 82 | 50 | 770
26 KIEK D 47 45 92 | 142 | 718
27| B REA 44 44 88 | 99 | 78.1
28| kW Xk=E 43 45 88 | 9.7 | 78.3
29 Kig 1&— 49 43 92 | 120 | 80.0
300 #H#H HEA 47 51 98 | 16.2 | 81.8
XiE HAX Bk - - - - -
K& HI FA - - - - -




( RA#HIHF 10AE A/\— B )

Rt 284 10A 2B (H)

HDCP16.5~ &k M#&&ISWPTH H A

B 1 K 2 OouT IN |GROSS| HDCP | NET
* 1 WHE BT 45 40 85 | 28.1 | 56.9
* 2 mE B3 41 43 84 | 175 | 665
* 3 EE RS 44 43 87 | 20.1 | 66.9
* 4 HME F¥E 39 45 84 | 17.0 | 67.0
% 5 LE# E—H 49 37 86 189 | 67.1
6 BER EH 46 44 90 | 228 | 67.2
*7 A & 45 43 88 | 200 | 68.0
8 BH =& 44 50 94 | 243 | 69.7

9 EK Bh 45 44 89 | 182 | 708
*10 NV TEER 44 45 89 | 18.1 | 709
11 Y AF 45 51 96 | 25.0 | 71.0
12 RO #2 46 45 91 199 | 71.1
13 AE 8= 49 47 96 | 234 | 726
14 EF S 45 52 97 | 241 | 729
*15 b 3 49 48 97 | 240 | 73.0
16 HE Bx 42 51 93 | 195 | 735
17| L@ #%— 49 50 99 | 250 | 74.0
18 AR B— 55 45 100 | 26.0 | 74.0
19 & =5 46 47 93 | 186 | 74.4
*20 NE #— 48 47 95 | 19.2 | 75.8
21 Nk Sk 49 45 94 | 18.1 | 75.9
22 T #% 47 51 98 | 220 | 76.0
23 WE Bk 47 47 94 | 174 | 76.6
24 KiE BHR 47 51 98 | 21.2 | 76.8
*25 B BX 42 52 94 | 17.1 | 76.9
26 B #F 49 48 97 | 188 | 78.2
27 brig B 53 50 103 | 240 | 79.0
28 #=h EH 50 46 9% | 16.8 | 79.2
29 WE M 57 58 115 | 345 | 805
%30 HO E= 54 53 107 | 240 | 83.0
31 Rt HiE 51 53 104 | 200 | 84.0
32 #hot g 55 46 101 | 169 | 84.1
33 R RB 52 56 108 | 220 | 86.0
K% B+ dh - - - - -
K% it &I - - - - -




